Zof84 = 2 0f 105 = 2 0f126 =
7 7 7

£8.50 - £3.45 = £12.99 - £4.63 = £21.03-£14.99 =

154 x 9 = 184 x 9 = 246 x 9 =

Write 134 in Roman Numerals Write 467 in Roman Write 845 in Roman Numerals
= Numerals = =

1248 + 8 = 1432 + 8 = 1728 + 8 =

10% of 630 = 15% of 630 = 16% of 630 =

What is the value of the What is the value of the What is the value of the
underlined digit? 3672 underlined digit? 13562 underlined digit? 874242
1663 + 8535 = 13642 + 9653 = 23547 + 2743 =
3.6x10= 3.6x100 = 3.6 x10x 1000 =

3 4

2 6 3 7
—+-= 1-+3-= 1-+2—=
8 8 8 8 8 16



? of 84 = 24 2 of 105 = 60 %of126=9o

£8.50-£3.45=£5.05 £12.99-£4.63 = £8.36 £21.03-£14.99=£6.04

154 x 9 = 1386 184 x 9 = 1656 246 x 9 =2214

Write 134 in Roman Numerals Write 467 in Roman Write 845 in Roman Numerals
= CXXXIV Numerals = CDLXVII = DCCCXLV

1248 + 8 =156 1432 +-8=179 1728 -8 =216

10% of 630 = 63 15% of 630 =94.5 16% of 630 = 100.8

3672=70 13562 = 3000 874242 = 70000

1663 + 8535 =10198 13642 + 9653 = 23295 23547 + 2743 = 26290
3.6x10=36 3.6 x 100 = 360 3.6 x 10 x 1000 = 36000

3 4 7 8

34327 12+432=42=5 12+2L=32
8 8 8 8 8 8 8 16 16



